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Independent Task

2

A patient has a heart rate of 60 bpm and a stroke volume of 90 cm³. Work 
out the cardiac output.
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Independent Task
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A patient has a heart rate of 80 bpm and a stroke volume of 70 cm³. Work 
out the cardiac output.
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Independent Task
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A patient has a heart rate of 90 bpm and a stroke volume of 40 cm³. Work 
out the cardiac output.
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Independent Task
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A patient has a cardiac output of 3500 cm³ / min and a heart rate of 70 
bpm. Work out the stroke volume

V:
E:
S:
R:
A:
U:



Independent Task
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A patient has a cardiac output of 8400 cm³ / min and a stroke volume of 
140 cm³. Work out the heart rate.
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